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Ab ol B3]

=2

FN: HES MR
M ANBIHFRMEES
S HEE MA2=E (9 ® =)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
CHE 2 A R A 4,510,103 8,374,720 3,864,617
Xl 595,000
< 2,000,000
s 1,915,103
ANMNBIRAMEE 4,406,941 8,252,022 A 3,845,081
Xl 595,000
< 2,000,000
s 1,811,941
HaEd AA2s=A 4,406,941 8,252,022 A 3,845,081
Xl 595,000
= 2,000,000
s 1,811,941
NA2=E izl =4l 136,200 173,400 A 37,200
201 Let24d] 79,400 11,600 67,800
01 At 22/l 21,600 11,600 10,000
Oget==EH| 8,800
—da ARE Y 900,000& *4=2 | 3,600
—MNRESZ 7Y 200,000 128 2,400
— AR ARE 22 250,000 4= | 1,000
—&d2X 2= 1,400,000& 1,400
—UtEH o822 20,000& »20AH 400
Ol HEIAMAHAZS=E BRI E2= ME
10,000, 000& 10,000
O= &l 2,800,000 2,800
02 3323l 7,800 0 7,800
OS2 HA 1,000
—S8NE UskHA & B8
1,000,000& = 1CH 1,000
O XA B | 6,800
- X U 5,000,000 5,000
— g sl 300,000& =63l 1,800
03 A2 Z Hl 50,000 0 50,000
OUWEBMNAZI=H JIE&H A 25,000,000 25,000
O =& ZEH= &= Z2& 25,000,000 25,000
202 odl 10,800 10,800 0
01 = LH o4 1l 10,800 10,800 0
O=dEH 28 5 &% ¢l 10,800, 000& 10,800
203 PR =&l 1,000 1,000 0
03 Al =X A2 =& 1,000 1,000 0
O=HEH 28 S AHFZ 1,000, 000& 1,000
207 ¢ Lt 40,000 150,000 A 110,000
01 89 40,000 150,000 A 110,000




PN HEZAE A
I GMEIARUEE

S HEE MA2=E (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
ORIIHEHESHE 2 HEEA £ EIEA XA
40,000,000 40,000
301 LBt A= 5,000 0 5,000
09 HAIAHI BEAZ 5,000 0 5,000
O HEFHMAHSsEH =H| TFE AKX
2 A 3,000, 000& 3,000
OX)| HEBHNMAZ2II=H HxE=H &L 2
& 2,000,000 2,000
SH0 282X 72,260 52,000 20,260
201 B9 60,000 50,000 10,000
03 A2 EH| 60,000 0 60,000
OHsn 249 8 7Y
1,000 20, 0004 20,000
O2J1&8 ®&AlS M= 10,000, 000 *x23| 20,000
O&AlE Mz 2= MH
1,000 x5,0005 43| 20,000
203 € R F=&d| 2,000 2,000 0
03 AIEH =X 2 F XY 2,000 2,000 0
OHiotoa 43 =& 2,000,000 2,000
301 et A= 10,260 0 10,260
09 HAIAHI B A2 10,260 0 10,260
OUZEASD 29 LA +¢
90,000& *x1H *1143] 10,260
H&HE JIE2s "ot Z4ALY 2,400,000 6,000,000 A 3,600,000
N 400,000
o= 2,000,000
401 Al HI L E0HHI 2,400,000 6,000,000 A 3,600,000
N 400,000
= 2,000,000
01 Al&H| 2,391,360 5,985,000 N 3,593,640
OXNEUNMELHZ HAH 2,391,360
—&EE JIS2s HOotI X8 A
2,391,360,000& 2,391,360
Xl 400,000
& 1,991,360
03 AlE 21| 8,640 15,000 N 6,360
OXNALNELHG H AL 8,640
—&EH JIE2S HOIE3XZSEAIY
2,400,000,000€ x0.36/100 8,640
o= 8,640
SHALRIF=E A& ALY =& 724,072 445,638 278,434
101 @1 214| 20,088 10,004 10,084
04 JIZtHI22XNSES 20,088 10,004 10,084




2N HEIAE A
M ANBIHFRMEES
S HEE MA2=E (9 ® =)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHIDIII A AIE2Y & 22 20,088
— MY =8 FHlHE ALY
44,6403 15 302 20,088
201 Let24d] 15,000 8,400 6,600
01 At 22l 15,000 8,400 6,600
OB+t 6,300
— MAEH ARE FY 800, 000& x4 DI 3,200
—ANREF 7Y 150,000& 128 1,800
—SANEX P2 500,000& x 13l 500
—sgs M 200,000& =4 K 800
O= &l 2,100,000 2,100
Ogxz 6,600,000 6,600
202 04 Hl 5,184 5,184 0
01 = LH 4 HI 5,184 5,184 0
OAEAY 23 ol 5,184,000& 5,184
206 M= Hl 3,800 2,050 1,750
01 M= 4l 3,800 2,050 1,750
Odiotta AlIE€29 & 22l 3,800
—2EEsH 7 15,000& »10H »33l 450
—otE S 2 150,000& x10H »23| 3,000
—g2od 2 10,000& 10X »33l 300
- DEEY 7Y 500& =10 103 50
207 A O] 50,000 0 50,000
01 23 39H| 50,000 0 50,000
OENEHdH AU HE EBEH 24 29
50,000,000 50,000
401 Al HIZ 201 8] 630,000 420,000 210,000
01 A& HI 625,356 416,670 208,686
OHIDIIIA ZE& &MY
198,560,000& 14 198,560
OHIOHII AW AMEES % =8 &3 3H & B«
A 198,560,000& 14 198,560
OHIOHIIAW Os=+= ATHSAM
198,560, 000& 198,560
OUEZ faciat Yillol YXAE X 3
A 29,676,000 » 14! 29,676
03 Al SR THHI 4,644 3,330 1,314
OHIDII A ZE&E& &MY
200,000,000& *0.72/100 1,440
OHIDHIIAW AMEES ¥ =8 23 3H S B+
A 200,000,000% *0.72/100 1,440
OHIOtII AW Ds=+= AMIA
200,000,000& *0.72/100 1,440
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D HEE Hlﬁl—i—i =d

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUXY wicla G20l ANE &1 3
At 30,000,000% *1.08/100 324
ZoHEZE Ol2=dZ &AL 217,000 1,075,000 A 858,000
X 195,000
i 22,000
308 XX EHHSOIA 217,000 1,075,000 A 858,000
X 195,000
s 22,000
07 IXNHHARE = 217,000 1,075,000 A 858,000
OXNSLHES I A A 217,000
—Z0HEZ Ol2cdZ =8 AMY
217,000,000 217,000
Xl 195,000
s 22,000
CHEZHOIIR S X 22 857,409 505,984 351,425
101 14l 83,758 88,178 A 4,420
03 RIAHAAZZRHE > 100 594 A 494
O&At2tel Il =l 100,000& »1H 100
04 J1ZtHZ22 s 83,658 87,584 N 3,926
OANM&EE X2 2 59,106
—Jl=s 44,6403 +3EF +251 33,614
-5 44,6403 +3H x52 6,964
—Re2Ez2d 66,9603 «3H x52 10,446
PN =R =y 44,6403 +3H x 12 1,608
—40f BE2 52,632,000& *12.3% 6,474
OHIOtIIR Ex=HMA =2
44 6402« 108 x 102! x43] 17,856
OHI0HIIE H=&g 2
44 640 5 x5 x63] 6,696
201 Let2d] 321,075 222,590 98,485
01 A2 22| 174,725 76,540 98, 185
o4 gl 142,225
—ANREF 7Y 150,000& »12& 1,800
—SAMEX 7Y 110,000 128 1,320
—HAUABE Y 2,580,000 2,580
—ANRY A2 22 250,000& *43| 1,000
—HOIZ2 E2=Z& M 800& =10,0007H 8,000
—HOtoI 3 HEEXN F+L 2,000,000 2,000
— g3y F727Y 2 ME 100,000 4 & 400
—dE2 ZE2NH A2F (ST ZH)uA
625,000 »4574 28,125
—Lacl2d g 29 A
1,000,000& 14 1,000




PN HEZAE A
I GMEIARUEE

S HEE MA2=E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—2Ael2 DEZHH A2F WA
8,000,000& 1201 13l 96,000
OXEIIEIYE =2
50,000,000& *1.5/100 750
Oz &l 2,100,000 2,100
ozg=¢ 29,650
—dE2 SdEY(LA) 50,000 x2H 114 11,400
—dE2 dAY(=A) 50,0009 *1H 365 18,250
02 3322l 146,350 146,050 300
OAdE A2 48,400
— gy SN, YSFY B2+ S
1,200,000& «12& 14,400
—Agotdze] 84 300,000& x12& 3,600
—&olotE el 89 2,000,000& x12& 24,000
—sZJ|tE e 4 200,000& 128 2,400
—XZ2e & FF7U 1,000, 000& 1,000
-~ HHE Y ASAR BASY
3,000,000 » 14! 3,000
Ozs&22= & HA 97,950
—dIIABE 7,000,000& x12& 84,000
—&ot=E MEZ 1,000,000& =122 12,000
—SIMNERES 300,000 »23l 600
— AYHHFEIH LR 90,000& * 13 90
— HOHIH 3 2A0IIOIE AHY & AIEE
35,000 33| & 1200 & 1,260
202 oddl 6,480 8,640 A 2,160
01 = LH o4 1l 6,480 8,640 A 2,160
ORAzel g2 =& &% 0dl  6,480,000& 6,480
206 M= Hl 32,576 28,576 4,000
01 =8l 32,576 28,576 4,000
Oxd+==2cl & F=MH A7
100,000& x5& *53] 2,500
OANdE B 7Y 300,000& 153 4,500
Ogd=z4az=s ¢ =378 24 10,000, 000& 10,000
OAEE 22185 7¢ 1,500,000& x43] 6,000
OMgz=zd 29 M1 3,000,000 3,000
Ozt&aa HS 2 250,000& *4=2 J| x4 4 & 4,000
oMgllEs&: ¢ 1,730& x1000H x12& 2,076
ORMZFE HE ¢ 250,000& »23| 500
301 gEtE L= 20,520 0 20,520
09 HALAHIEA S 20,520 0 20,520
OMEZ=Z208 2A=+=2 90,000 «2F 114 20,520




D HEFAE A
D AANSIRUEE

CHEE MAZEEE

A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEHI L 2CHYI 393,000 138,000 255,000
01 Al £ HI 390,570 136,920 253,650

O2m&2 A2 FHl 20,000,000 14 20,000
OHIOHIHA OHE2x O™ £X 20,000,000& 20,000
OHIOHII A E=O0LE MA &X 20,000,000 20,000
ODs 21243 AIAHE 0l &X
8,000,000& 8,000
O™Acl2 UPSE X 297,840,000 297,840
OHIOIIIE SAATH & YSEANE =
24,730,000& *14] 24,730
03 AlE 2 THHI 2,430 1,080 1,350
OAaclat UPSEX 300,000, 000& *0.72/100 2,160
OHIOIIE SAAULIAH B4+ & SSANE 2
25,000,000% *1.08/100 270
SRHEAL &5 & 29 86,952 105,378 A 18,426
S HFAE 22 86,952 105,378 A 18,426
JHOF=RI M HEH KA 2e 86,952 105,378 A 18,426
101 @124 H] 19,704 21,650 A 1,946
04 DIt 22 XS+ 19,704 21,650 N 1,946
OANEE SXael A2 19,704
—Jl2= 44,6403 1E «251 11,205
—F5= 44 6403 «1H 522 2,322
—5d2z=d 66,9603 «1H x52& 3,482
—gissE+E 44 6403 «1H 12€ 536
—4AlE8= 17,545,0002 *12. 3% 2,159

201 2 Bt2 S 39,610 71,590 231,980

01 At 22l bl 2,720 2,600 120
Oget+=EZH| 2,720
— AR ABE 7Y 100,000& »43] 400
—d2ES 7Y 250,000& »43| 1,000
— 30 gi2eldl 55,000 «2J4 =128 1,320

02 524t 36,890 68,990 A32,100
0332 & MA 27,490
— &I MHEEZ 2,000,000 128 24,000
—dote MEE 250,000 =123 3,000
—SFNERE=S 200,000& »23| 400
— 2NN EIH G2 90,000& * 12 90
OAl £ &HlI s X H 9,400

— 8D, E8IAE =X 2clbl

1,000,000& 23] 2,000
—Ag otNe 29 300,000 122 3,600




SN HEBAYA

M FoMSALE =5 2 29
&2 SASAIE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

—s&J Mz 24 200,000& 128 2,400
—H+==x & L EY 700,000& *23| 1,400

206 M= Hl 5,638 7,138 A 1,500

01 = tl 5,638 7,138 A 1,500
Ox¥Es 223 7¢ 1,000,000 1,000
Ozt&a Hs ¢ 300,000& =128 3,600
oxrgll 25 2¢ 1,730 5000 122 1,038

401 AIEHI L 2CHYI 19,000 5,000 14,000

01 A& HI 19,000 5,000 14,000
OL72 AId= &l 5,000,000& =14 5,000
OXMsdH 3AHAA &X 10,000, 000& 10,000
OMSHE CCTVEXI 1,000,000 *4H A 4,000

405 XtatE SHI 3,000 0 3,000

01 XA = ZFH SHI 3,000 0 3,000
OdsdEAI 7¢ 3,000, 000& 3,000

HE2HZH (HEHAIS L) 16,210 17,320 A1,110

Jl=&l 16,210 17,320 A1,110

JlEdl 16,210 17,320 A1,110

201 Let24d] 6,610 7,120 A510

01 At 22l 6,610 7,120 A510
Ogt+=&H| 6,610,000 6,610

202 O4dl 6,600 7,200 A 600

01 = LH 4 1l 6,600 7,200 A 600

fA2I(AH, MOIL, F3s &4 5)

6,600,000& 6,600

203 YR =&l 3,000 3,000 0

04 REN2ELRZ=TH 3,000 3,000 0
ORM2IYRFLH 3,000,000& 3,000




